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1(0020378) C | What material does not act as good insulator ? (A) plastics (B)

ceramics (C) carbon fibers
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2(0020449) C | What device is used to store electrical energy in an electrostatic field ?
(A) Abattery. (B) A transformer. (C) A capacitor.
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3(0047295) B | What is the formula for conductance ? (R=Resistance) (A) R + 1.
(B) 1/R. (C) 1-R.
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4(0047397) A | An ammeter is connected into a circuitin (A) series. (B) shunt.
(C) parallel.
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5(0020278) C | Acircuit with resistor parallel connected can be used as (A ) potential
divider (B) power divider (C) current divider
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6(0047437) C | Carbon's resistance has a (A) temperature coefficient of zero. (B)
positive temperature coefficient. (C) negative temperature coefficient.
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7(0020388) C | Aresistor is marked with the following coloured stripes: blue, grey,
orange, silver. What is its value and tolerance? (A) 3.4kohm, £5% (B)
10kohm, £10% (C) 68kohm, £10%
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FAE A % (A) 3.4kohm, £5% (B) 10kohm, £10% (C) 68kohm,
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8(0047420)

Which of the following will cause the resistance of a conductor to
decrease? (A) Decrease the length or the cross-sectional area. (B)
Increase the length or decrease the cross-sectional area. (C) Decrease
the length or increase the cross-sectional area.
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9(0020473)

What is the maximum voltage that may be connected across a 20 watt,
2000 ohm resistor? (A) 10 volts. (B) 100 volts. (C) 200 volts.
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10(0047537)

The MMF(Magneto-Motive Force) of a coil fed with 2 amps and
having 10 turns is (A) 5 ampere turns. (B) 2 amperes turns. (C) 20
ampere turns.
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11(0047137)

A material that can easily be magnetized has which of the following
properties? (A) Residual magnetism. (B) High permeability. (C) Low
permeability.
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12(0047529)

The term used to denote the strength of a magnetic field is (A)
retentivity. (B) hysteresis. (C) flux density.
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13(0047515)

Which pair of the following materials would most readily become
magnetized? (A) Iron and steel. (B) Copper and steel. (C) Nickel and
bronze.
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14(0020308)

Ferromagnetic materials can be demagnetized (A) within a band of
temperatures (B) above a certain temperature (C) below a certain




temperature
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15(0047211)

The unit which consists of two or more different types of atoms is
known as a (A) particle of an element. (B) molecule of a compound.
(C) molecule of an element.
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16(0047190)

When a 3A current flows through a 3-ohm resistor, what is the power
dissipated by the resistor? (A) 1watt (B) 9watt (C) 27watt

és&ip‘; o B3WBZTIE FERZRTE "'L’r‘/“}i’%“/‘iﬂ x
= P?2(A)1LF B)9x # (C) 271 #

17(0047434)

An increase in operating temperature in most electrical devices
carrying current results in (A) a decrease in resistance and an increase
in current. (B) no effect on the resistance and current. (C) an increase
in resistance and a decrease in current.
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18(0020276)

The power rating of a resistor is (A) the minimum power that the
resistor can safely dissipate (B) the minimum voltage that the resistor
can safely generate (C) the maximum power that the resistor can safely
dissipate
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19(0047412)

In general, increasing the cross sectional area of an electrical cable (A)
increases its resistance. (B) enables it to carry more voltage. (C)
enables it to carry more current.
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20(0047409)

In a parallel resistor circuit of R1 and R2, the total resistance is (A) RT
=1/R1+1/R2.(B) /RT=(R1x R2) + (R1+R2). (C) 1/RT=1/R1 +




1/R2.

7 IR1Z R2¥ Wichg ¢ » RIBZR2:G9 % 12 5 (A)RT = 1/R1 +
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21(0020399)

An ideal capacitor acts as a(n) ... circuit to a DC Current source. (A)
open (B) short (C) semi-open
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22(0020452)

What determines the strength of the magnetic field around a
conductor? (A) The resistance divided by the current. (B) The ratio of
the current to the resistance. (C) The amount of current.
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23(0047534)

A material with a narrow hysteresis loop (A) cannot be magnetised.
(B) will have high retentivity. (C) will have low retentivity.
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24(0047511)

A solenoid of 10 turns per metre carries a current of 5A. If the current
is reduced to 2.5A, how many turns would be required to maintain the
same magnetic field? (A) 20. (B) 50. (C) 5.
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25(0020328)

To find which end of an electromagnet is the north pole, use the (A)
Fleming's Left Hand Rule (B) Right Hand Clasp Rule (C) Cork Screw
Rule

#F T AR iﬂ" v At ? (A)Flemingz = £ z ] (Fleming's
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26(0047112)

According to the circuit, what is the equivalent resistance between
points C and D? (A) 32Q(B) 36Q (C) 40Q2
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27(0047438) The 5th coloured band on a resistor represents the (A) reliability or
temperature coefficient. (B) tolerance. (C) multiplier.
RIEE L hEDES F A (A) P RAMSER Bk (B) FA
# e (C) k#c-

27(0047438) The 5th coloured band on a resistor represents the (A) reliability or
temperature coefficient. (B) tolerance. (C) multiplier.
TIEEBFOELES F A E (A) FRAMESER Gk (B) 4
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28(0047415) The formula for resistance in series is... (A) RT =R1+ R2 + R3 .....Rn.
(B)RT=R1xR2x R3....Rn. (C) 1/RT =1/(R1 x R2 x R3 .....Rn).
T ?2(A)RT=R1+R2+R3...Rn- (B)RT=R1*
R2*R3...Rn- (C)1/RT=1/(R1xR2xR3....Rn) »

29(0020172) What is the total resistance when resistor color code is brown, black,
red and golden. (A) 2k ohms, tolerance+/- 5% (B) 1k ohms,
tolerance+/- 5% (C) 1k ohms, tolerance+/- 10%
FoREEI R S R v g HRRES SS9
(A) 2k ohms, %% +/- 5% (B) 1k ohms, %% +/- 5% (C) 1k ohms, %
£ +/- 10%

30(0020505) While the equipment is in operation the variable resistors are used to

vary the resistance. Which statement is truth? (A) wire-wound variable
resistors control large currents (B) carbon variable resistors control
large current (C) wire-wound variable resistor control carbon resistors
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31(0020360) C | The S.1. unit of magnetic flux density is the (A) Weber (B) Henry (C)
Tesla

A gmrzE=5i®? (A) # @(Weber) (B) 3 41(Henry) (C) %
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32(0020420) C | Which of the following appliances has direct relationship with eddy
current? (A) an electric rice cooker (B) a thermal cooker (C) an
induction cooker
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33(0047540) A | Permeability of a material can be found by (A) flux density / MMF.
(B) MMF x flux density. (C) MMF / flux density.
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34(0020290) C | A ferromagnetic material (A) is a permanent magnet (B) is a magnetic
force insulator (C) can exhibit magnetic properties when subject to the
influence of a magnet
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35(0020359) B | Asoftiron core is used in an ELECTRO magnet because (A) it has
HIGH permeability and HIGH coercivity (B) it has HIGH permeability
and LOW coercivity (C) it has LOW permeability and HIGH
coercivity

- B e L AR RS TS (A) U E
gt (B) L4 3 $E I i (C) 2
/@“2’4

RERR 2SS 2k
R e

36(0047671) A | A parallel RLC circuit at resonance has (A) maximum impedance. (B)
zero impedance. (C) minimum impedance.
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37(0047443) B | A resistor dissipates 80 Watts. If it runs for 4 hours 15 minutes, how
much energy is dissipated in total? (A) 20.4KJ. (B) 1.224 MJ. (C)
191.25J.
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38(0020455)

What is the meaning of the term time constant of an RC circuit? (A)
The time required to charge the capacitor in the circuit to 36.8% of the
supply voltage. (B) The time required to charge the capacitor in the
circuit to 36.8% of the supply current. (C) The time required to charge
the capacitor in the circuit to 63.2% of the supply voltage.
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39(0047724)

An increase in which of the following factors will cause an increase in
the inductive reactance of a circuit? (A) Inductance and frequency. (B)
Resistance and capacitive reactance. (C) Resistance and voltage.
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40(0020469)

Assuming a power source to have a fixed value of internal resistance,
maximum power will be transferred to the load when: (A) The load
resistance equals the internal resistance of the source. (B) The load
resistance is greater than the source resistance. (C) The load resistance
is less than the source resistance.
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41(0047201)

When circuit frequency approaches infinity, an inductor acts like a(n)
(A) open circuit. (B) short circuit. (C) semi-conducted circuit.
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42(0047125)

If C1=5F, C2=4F, C4=C3=2F, C5=3F in the following circuit, then
how much is the total capacitance? (A) 4.5F. (B) 5.5F. (C) 7F.

4eB 7 7 B > % C1=5F - C2=4F ~ C4=C3=2F ~ C5=3F » #1447
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43(0020540)

Which of the following is passive component? (A) diode (B) transistor
(C) resistor

THRAE R E?2(A) 2 (B) TR (C) e

44(0020445)

What is the relationships between power factor and phase angle in
circuits. (A) PF=sin(0) (B) PF=cos(0) (C) PF=tan(0)

TR P FF s p i b 2 B 5 P2 (A) PF=sin(0) (B) PF=cos(0)
(C) PF=tan(0)

45(0047756)

Which of the following would be used to calculate transformer turns
ratio? (A) Secondary turns + primary turns. (B) Primary turns x
secondary turns. (C) Primary turns + secondary turns.
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46(0047738)

How to reduce the wasted power dissipation caused by the parasitic
resistance in a circuit? (A) In crease the parasitic resistance in circuit.
(B) Keep the parasitic resistance in circuit the same. (C) Reduce the
parasitic resistance in circuit.
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47(0047791)

A capacitor acts like a short circuit at high frequencies, then the circuit
in the picture is a ... (A) band-pass filter. (B) high-pass filter. (C) low-
pass filter.
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